Pass 1, Sesh 1
· GENERAL NOTES:  Preliminary stuff; no substantive notes.
Pass 1, Sesh 2

· GENERAL NOTES:

· I generally replaced “nonloss” with “non-loss,” and “nongain” with “non-gain.”  If that contradicts common usage among your sources, then just change them back, and tell me.

· Study 1, 1st paragraph (last sentence):
· Content comment:  ”By examining these evaluations, we can find out whether the regulatory fit is the consequential factor for co-branding or not.”
Two questions:

· Should I presume that “regulatory fit” is “common currency” terminology in academic marketing circles?  If not, fix.  If so, then you might want to keep in mind a common stylistic recommendation from reviewing organizations:  That the paper should be readable by an intelligent, broadly educated lay person (like me!)  I don’t know what “regulatory fit” is.  You can expand this a little bit to make sure the lay reader can get the idea.

· Are you sure you mean “the consequential factor,” and not “a consequential factor”?

· Study 1, second paragraph (entire):
· There are lots of changes here, and it seemed appropriate for me to use my best understanding and try to bring confusing bits together in a way that make sense to me.
Nonetheless, READ THIS PARAGRAPH VERY CLOSELY!!!
· Study1, “3.1 Stimuli Development”, 1st paragraph
· First sentence:  “The purpose of pretest 1 is to make sure participants perceive complementarity between sets of attributes belonging to the primary and secondary brands.”
Is this just a fancy, ‘round-about way of saying that you need to make sure there are objective grounds for the claim that your test products, in fact, have the attributes you say they do?  If so, then you can say this in a much more direct way.  How about?:
The purpose of pretest 1 is to make sure our test brands do indeed have the attributes against which we seek to obtain our findings.
If you like it, put it in.  If I’m wrong, ignore it.
· Pretest 2 paragraph:
· As usual, read carefully; I made lots of changes that seem right to me, but may have altered your meaning.  Check that meaning, carefully!
· “Measures”: last paragraph:

· “The brand evaluation Cronbach’s alpha reliability value is 0.8026. The emotion response Cronbach’s alpha reliability values are 0.66 and 0.79, respectively, which are almost consistent with Higgins’ research’s (2001) Cronbach’s alpha= 0.77 and 0.68, respectively.”
I’ve seen this before:  You’re using “respectively” incorrectly, twice.  I was able to clean this up earlier in the paper—and you might want to find that and review what I did to get the idea—but I can’t clean this up because the items you’re seeking to pair up are unstated.
For example:  “The values for A and B are C and D, respectively.”  This means A’s value is C and B’s value is D.
Read this paragraph carefully and try to clear this up.
Pass 1, Sesh 3

· GENERAL NOTES:

· As before, the occasional preposition tweak, and a handful of grammatical and stylistic issues.  This is largely pretty clean text.
· I think I’m DONE WITH THE FIRST (final?) PASS!






